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INSURANCE BUSINESS ENVIRONMENT
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Answer EIGHT questions only. Question ONE carries 16 marks but
this is not compulsory. All other questions carry |2 marks each.
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1. State whether the following statements are true or false. Give 1

reasons.,

a) A partnership concern is owned by two or more brothers.

b) Insurance to cover death by accident is treated -as life
insurance.

c¢)  The Controller of Insurance scrutinises the accounts of
INSUTNETS

d)  Actuarial investigations are required to be done for both
life and non-life business.

¢}  An OBU is located outside the country.

fi  Anarbitrator is a single individual.

g) SO certification is a certificate of guality of the product.
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h)  Venwure Capital funds are meant to promote adventure

SpOrts. i
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Match the words in Column 'A’ below with the words in

Column 'B".

Column 'A' Column 'B’
1) Agro Industry a) BSE
1) BPO b) . Banks
1i) Cross Roads ¢} Exports
iv) Demat d)  Futures
v)  Derivatives e)  Hinterland
vi) Inflation . ) Information
vii) NAV g)  Mall
viii) NPA hy  Mutual Funds
ix) Office i) Price Rise
x) Ports 1) Stocks
x1) Repo Rate k) Storage
xii) Sensex Y RBI
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Distinguish between any three of the following :- 4 each
a) GDP and GNP

b) FDA and FII

¢} Open ended and Closed ended schemes of Mutual Funds

d)  PSUand BPE
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Write short notes on any three of the following 4 each

a) Public key and Private key
b)  Audit Committee

c) TRAI

d) OTCEI]
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Indicate which of the alternatives in brackets is the correct

one to complete the following statements .

i) If the date of proposal is 2nd June, the underwriting
decision is made on 6th June, the policy is issued on
7th June, and it is received by the policy holder on
10th June, his right to ask for cancellation of policy

is valid till -—---- June (21st. 22nd, 25th )
1) The award of Ombudsman is binding on the -

(the insurer, the complainant, both, neither) 1
1i) The Solatium Fund is used for compensation in the

case of -——- (gross injuries, all injuries, loss of limbs,

none of these)

iv) Relief Fund is used to provide relief to victims of
——————— (car accidents, earthquake, hazardous
materials, none of these)

vl Small Scale industry is determined by the amount of
-—= (investment, turnover, employees, all of these)

vi) Book building relates to - (accounting, capital
market, publishing, none of these)

Expand the following : I each
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i) TRIMS iv) C-Dot

v) COPA vi) MTO
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What is the significance of the politics of coalition? 6 each
What is the impact on the insurance business arising out of
1) adulteration
1) negligence on the part of owners and managers ?
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a)  What are the different kinds of leasing arrangements? 6 each
by Compare the relative advantages of Hire Purchase and

Leasing.
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State at least four of the main provisions of the following
policies :-
a) Population policy
b) Power policy
¢) +Technology policy .
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How do you see the future in respect of the following ? 6 each
a) Biotechnology
b)  Shifts in agriculture trends.
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a) What is the purpose of the credit policy announced fmmﬁmCh

time to time?

b)  Explain the statement "with globalisation, the environment
of business and trade is becoming much bigger und more
complex’”. \

---- The End ----



